
5

6

2

3

4

1

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 Vladi B2B Pull_Rev-A Cast Zinc, 
320mm c to c 2

2 Allen Key Wrench
Supply for Set 
Screws (not 

shown)
1

3 Vladi_320mm_Custom 
Rubber Washer 4

4 AM A M8X55-C
2 sided 

threaded M8 
stud

2

5 M8 Bushing Cast and 
Machined 4

6 B18.3.6M - M5 x 0.8 x 6 Hex 
Socket Flat Pt. SS --S

M5 x 6mm Set 
Screw 4

7
B18.6.7M - M8 x 1.25 x 55 
Type I Cross Recessed 
PHMS --38N

4

8 B18.22M - Plain washer, 8 
mm, regular 4


	One Sided Installation
	Drawing View68


